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PSC Clerkship Exam — Explanation (1st Half) Exam Held : 25.01.2020
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lllegible— a handwriting that can not be
understood.
in— if success in any field is suggested the
adjective successful takes the preposition
‘in’.
Cactus— A cactus in a plant that grows in
hot-dry areas (like the desert, and it is
covered in spines but without leaves.
Call on— The phrasal verb “call on’ means
‘to visit someone’, whereas :
Call for = demand, call up = remember, call
off-cancel. W
The sentence is in past indefinite passive
form without a subject. By putting the
assumed subject ‘they’, the correct
structure of the sentence becomes ‘a’,
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(©)

through an interchange of places between
the subject and the object. afrers
From the context of the sentence, it is
implied that— everyone was present in the
meeting but Alok was not. Hence, except is
the only suitable word.
under is the only preposition that suggests
a downward position in relation to another.
Hence, d is the answer.
Enormous means something that very big
in size. Hence, option d is suitable.
(@) Famous — renowned, (b) Normal—
ordinary (c) Incongruous — Dissimilar
A ‘credulous’ person is one who believes
everything and everyone without judgement.
Hence, option c is the answer.
Credible = a thing that can be believed.
increadible = something that cannot be
believed creditable = something deserving
praise.
Hyphenated is the only correctly spelt word.
Begin is the correct answer. Commence and
begin are synonymous, meaning ‘to start
something.’
announce = declare commend = praise
comment = to express an opinion.
ayfrer
The reporting verb is in simple past tense.
According to the rules of narration. If there
is a simple past tense in the reporting
speech, the present perfect tense in the
reported speech changes into past perfect
tense.
The adjective adequate means ample or
enough.
According to the rule of subject-verb
agreement, if two subjects are joined by
‘neither... nor’, the verb agrees in number
with the subject closer to it. The closer
subject is Sujata.
When a quarrel breaks out between 2 people,
the preposition is between.
up — the group verb ‘give up’ means ‘to
stop doing something.’
had heard— If there are two past actions,
that which takes place earlier is in past
perfect tense. fsers
Smuggler— a smuggler is a person who
illegally imports into or exports out things
from one country to another.
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90. (&) We use ‘at’ after good to suggest skill. 96. (c) The sentenceisin present continuous active
91. (d) The verb *approve’ takes the preposition structure.

‘of”. ayfsere | | 97. (&) The adjective ‘preoccupied’ meaning
92. (c) The word ‘attack’ and ‘defend’ are opposite ‘engrossed’ taken the preposition ‘with’.

in meaning. 98. (b) When an assertive sentence is changed into
93. (8) to stand someone in good stead means to an interrogative one, the auxiliary verb

offer someone some chance/facility. comes before the subject. W
94. (a) s the correct spelling. 99. (d) The adjectives ‘essential’ and ‘vital’ are
95. (c¢) To murder in cold blood or cold blooded Synonymous.

murder refers to a murder perpetreted very | 100. (¢) The group verb turn into stands for a

thoughtfully

change in the form of something.
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_ (8.73)° + (4.27)°
(8.73)% + (4.27)2 —8.73x 4.27

=(8.73+4.27) =13

e

(6) o = =L+ ﬁ)z ~625(1+ %)2

_ 625 676 _
—625><625 676

(d) FexE E few sifstaal 40 /a0

Rt I T SISl 4%530 =20 T/

_2x40x20 1600 _ -2
M MO =500 = 60 ~ 203
5!

(a) «fF Re=reny = 100
e = 115

fofar/

o = 15
afrers
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TR Tol e :%XIOO:B%% 71. (d) 'gfhe adjective afraid takes the preposition
64. (b) «fs 716 740 X, x+1, X+2, x+3, x+4, x+5, x+6 | 72. (d) The active form of ‘may-v’ is changed into
GEIDRIE ‘may be v¥. The subject is indefinite.
XX+ 14X+ 24X+ 3+X+A+X+5+X+6 Hence, option (d) is the only suitable answer.
= 20x7 73. (c) ‘Neither’ takes a singular verb. Hence option
‘c’ is the correct answer.
7x+21 = 140 ayfere 74 () P
x =17 75. (b) If a sentence begins with ‘by the time’, it
3ze RN 261 = x+6 = 17+6 = 23 is followed by simple past and then comes
2 a past perfect structure.
P(“ﬁ) 4 76. (c) Candidates who are qualified are called
65. (b)) —5 =7 eligible, illegible = a handwriting that can
not be understood. honourable = one who
T ) can be respected.
100 ideal = something best in quality.
ﬁ:l 77. (c) To make up one’s mind means to resolve
or to take decision.
r —100% WF| | 1g (@) believable. Ayfsere
66. (b) &fa fometaa 9% TAFE 7X, 5X @ 4X 79. (d) n;akeshl— ‘early to bed lzndegarly tc()j_r_ise’
erstepai Al the whole section is considered a condition,
~ XH A= 2255 and hence, must take a singular verb.
X=5 80. (a) (‘will —v’) — this active structure changes
faolw wfe 999 = 5x = 5 x 5 = 25 q%4 into will be = V8
67.(c) A:B=4:3B:C=3:5 81. (c) to fight tooth and nail is an idiom which
A:B:C=4:3:5 means to fight with one’s effort.
C:D=10:9 82. (b) behaviour isan uncountable nounce. Hence,
A:B:C:D=8:6:10:9 It is singular,
83. (c) Keep in mind means to think about. Hence,
68. (d) A « Titem 5 wicel T 5 it option (c) is the answer.
84. (c) Cautious and careful are same in meaning.
A @ FICEH 1 o B0 5x2=10 e Hence, option (c) is the answer.
1 85. (a) The correct spelling is satellite.
B & e 3 oI T 4 e 86. (&) The correct spelling is ambitious.
B @ iterd 1 9ig% 9407 4 x 3 = 12 fatey 87. (a) esteem and respect are same in meaning.
A @ B &Fq 5l e F0 Enmity = Rivalry, Elegance = grace, Famous
10x12 5 €) |: IT(enowniq is th iti
—IXe _p§ I 88. (@) look at — this is the correct preposition to
0+12- 1l i _ be used with ‘look’.
69. (b) T ST FACS GTAR o AT 89. (b) Meat is obtained from the shop of a butcher,
a person who sells meat.
_ (60+950) :1258:59:135 TS Green grocer = a person who sells
40x 73 vegetables.
Broker = one who buys and sells goods or
70. (©) 20%+3o%—* :35% et assets.
Baker = a person who prepares bread.
= * =(20+30-35)+(3+ 3-2) %0. @ Kbl
2 33 91. (d) To move heaven and earth — this phrase

1541151
—15+6 156

means to use every possible effort. Hence,
(d) is the correct answer.
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92.

93.

94,

95.

(d)

(b)
(c)
(b)

The sentence is in passive voice. The tense
is present and the subject is singular. Hence,
(d) is the correct answer.
The verb ruled takes the preposition over
after it. Hence, (b) is the correct answer.
One who can not read or write is called an
illiterate.
Something that can not be explained in
words is called inexplicable.

yfrere

96. (c)
97. (c)

98. (b)

99. (d)
100. (c)

One whose behaviour does not follow any
standard behaviour, is called.

Option (c) is the correct passive voice for
the simple past form.

bully is the correct answer. ayfrere
Tramp = a vagabond, hypocrite = an
imposter Tresspasser = one who enters
without permission.

beside is the correct preposition of place.
Safe and dangerous are opposite in meaning




